hohner

Esquema de ligacao. Conector de 5 pinos 805 -Macho.

XXXX-035X-XXXX

XXXX-095X-XXXX

XXXX-055X-XXXX

Pino 1=-0 Volts
Pino 2 =+ 5 a 28 Volts
Pino 3 =Canal A
Pino 4 = Canal B
Pino5=Canal O

Pino 1=-0 Volts

Pino 2 =+ 5 a 28 Volts
Pino 3 = Canal A

Pino 4 = Canal B

Pino 5 = Canal O/

Pino 1=-0 Volts

Pino 2 =+ 5 a 28 Volts
Pino 3 = Canal A

Pino 4 = Canal A/
Pino5=N/C

XXXX-025X-XXXX

XXXX-085X-XXXX

XXXX-015X-XXXX

Pino1=-0 Volts

Pino 2 =+5a 28 Volts
Pino 3 = Canal A

Pino 4 = Canal B
Pino5=N/C

Pino1=-0 Volts

Pino 2 =+5a 28 Volts
Pino 3 = Canal A
Pino4=N/C

Pino 5 = Canal O

Pino1=-0 Volts

Pino 2=+ 5 a 28 Volts
Pino 3 = Canal A
Pino4=N/C
Pino5=N/C

XXXX-075X-XXXX

XXXX-035X-XXXX

XXXX-0959-XXXX

Pino 1=-0 Volts
Pino2=+5a 28 Volts
Pino 3 =Canal A

Pino 4 =N/C

Pino 5 = Canal O/

Pino 1 =Canal B
Pino2=Canal O
Pino 3 = Canal A
Pino4=+5a 28 Volts
Pino 5 =-0 Volts

Pino 1 =Canal B

Pino 2 = Canal O/
Pino 3 = Canal A

Pino 4 =+ 5 a 28 Volts
Pino 5 =-0 Volts




